
Mathematikschulaufgabe 

Rechenregel Potenzen 
 an • am  = an+m 

 
 an

 am = an-m

 
 an • bn = (a•b)n 

 
 an a    n

 bn b = 

 
 (an)m = an•m

Zusatzregeln Potenzen 
 a0 = 1 
 
  1
  ana-n  = 

Kreiszahl 
 π = 3, 141... 

Kreis 
 U = 2 π r =  π d 
 
 A = π r2

Bogenlänge 
                      μ_     
 180°   b =            π r 

Sektorfläche 
                      μ_     
 360°   Fs=            π r2

 oder           r  
                   2   Fs =     b 

Zylinder 
 V = π r2 h 
 
 M = 2 π r h 
 
 O = 2 π r2 + 2 π r h 
      = 2 π r (r + h) 



gerader Kreiskegel 
 V = 1/3 π r2 h 
 
 M = π s r 
 
 O =  π s r + π r2 

Segment 
 Kreissektor - Dreieck 

Segment mit 90° Winkel 
  1  1         1
  4  2         4 

  F90=     π r2 -     r2        =      r2 (π - 2)

Segment mit 60° Winkel 
  1       3        
  6       4   

  F60=      π r2   -        r2

Segment mit 120° Winkel 
  1       3        
  3       4   

  F60=      π r2   -        r2
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